

[October 27, 2018]

$$1a) \quad c_{f_1}(m) = 2+im \cdot c_f(m) \Rightarrow \forall m \neq 0 \quad |c_f(m)| \leq \frac{|c_{f_1}(m)|}{2+|m|}$$

$$\sum_{m=-\infty}^{\infty} |c_f(m)| \leq \underbrace{\left| \int_0^1 f(x) dx \right|}_{<+\infty} + \sum_{m \neq 0} \frac{1}{2+|m|} \cdot |c_{f_1}(m)|$$

$$\stackrel{\text{(Cauchy-Schwarz)}}{\leq} \underbrace{\frac{1}{2+|m|}}_{<+\infty} \cdot \underbrace{\left(\sum_{m \neq 0} \frac{1}{3^2} \right)^{1/2}}_{\text{(Bessel)}} \cdot \underbrace{\left(\sum_{m \neq 0} |c_{f_1}(m)|^2 \right)^{1/2}}_{\leq \int_0^1 |f(x)|^2 dx <+\infty}$$

$$<+\infty$$

$$b) \quad \text{Cauchy-Schwarz: } |c_f(m)| \leq \int_0^1 |f(x)| dx \leq \left(\int_0^1 |f(x)|^2 dx \right)^{1/2} \quad \forall m \in \mathbb{Z}$$

$$\sum_{m=-\infty}^{\infty} |c_f(m)|^4 \leq \underbrace{\left(\sum_{m=-\infty}^{\infty} |c_f(m)|^2 \right)}_{\text{(Bessel)} \leq \int_0^1 |f(x)|^2 dx} \cdot \int_0^1 |f(x)|^2 dx \leq \left(\int_0^1 |f(x)|^2 dx \right)^2$$

$$2. \quad g(t) = f(t-1), \quad f \text{ right-sided} \rightarrow G(s) = F(s)e^{-s}$$

$$h(t) = \begin{cases} e^{-t} e^t & t \geq 0 \\ 0 & t < 0 \end{cases} \rightarrow H(s) = \frac{e}{(s-1)^2}$$

$$\text{Want to solve: } (f * g)(t) = h(t-1)$$

Replace

$$\rightarrow (eF(s) - f(0))G(s) = H(s)e^{-s}$$

$$\Leftrightarrow (eF(s) - f(0))F(s) = \frac{e}{(s-1)^2}$$

$$\text{Get: } F(s) = \frac{\sqrt{e}}{s-1} \quad \text{so that } f(t) = \begin{cases} \sqrt{e} \cdot e^t & t \geq 0 \\ 0 & t < 0 \end{cases} \quad (f(0) = \sqrt{e})$$

$$e \cdot \left(\frac{e}{s-1} - 1 \right) \frac{1}{s-1} = \frac{e}{(s-1)^2}$$

$$\rightarrow f(t) = \begin{cases} \sqrt{e} \cdot e^t & t \geq 0 \\ 0 & t < 0 \end{cases}$$

$$\begin{aligned}
 \int \frac{1}{x^2 + p^2} dx &= \int \frac{1}{x^2 + p^2} \cdot \frac{x + p}{x + p} dx = \int \frac{x + p}{x^2 + p^2} dx \\
 &= \int \frac{x}{x^2 + p^2} dx + \int \frac{p}{x^2 + p^2} dx \\
 &= \frac{1}{2} \int \frac{2x}{x^2 + p^2} dx + p \int \frac{1}{x^2 + p^2} dx \\
 &= \frac{1}{2} \ln|x^2 + p^2| + p \cdot \frac{1}{p} \arctan\left(\frac{x}{p}\right) + C \\
 &= \frac{1}{2} \ln|x^2 + p^2| + \arctan\left(\frac{x}{p}\right) + C
 \end{aligned}$$

4. a) $f(x) = x^p \sin R \pi x$, $-\frac{1}{2} \leq x < \frac{1}{2}$ (p odd + real-valued)

$$\begin{aligned}
 \int_{-\frac{1}{2}}^{\frac{1}{2}} x^p \sin R \pi x \cdot p^{-1} \pi \sin R \pi x dx &= -i \int_{-\frac{1}{2}}^{\frac{1}{2}} x^p \sin R \pi x \cdot \sin R \pi x dx \\
 &= -i \int_0^{\frac{1}{2}} x^p \sin R \pi x \cdot \sin R \pi x dx \quad \text{Note: } \int_{-m}^m \sin x dx = 0 \\
 &= 0
 \end{aligned}$$

$$\begin{aligned}
 \int_{-\frac{1}{2}}^{\frac{1}{2}} x^p \cos R \pi x \cdot p^{-1} \pi \cos R \pi x dx &= \int_{-\frac{1}{2}}^{\frac{1}{2}} x^p \cos R \pi x \cdot \cos R \pi x dx \\
 &= \int_{-\frac{1}{2}}^{\frac{1}{2}} x^p \cos R \pi x \cdot \cos R \pi x dx \\
 &= 4 \int_0^{\frac{1}{2}} x^p \cos R \pi x \cdot \cos R \pi x dx
 \end{aligned}$$

$$\int_{-\frac{1}{2}}^{\frac{1}{2}} x^p \cos R \pi x \cdot p^{-1} \pi \cos R \pi x dx = \text{[Formula sheet]}$$

$$\int_0^{\frac{1}{2}} x^p \cos R \pi (1-k)x dx - \int_0^{\frac{1}{2}} x^p \cos R \pi (1+k)x dx$$

$$= \text{[Formula sheet, } k \neq 1] = p \left(\frac{(-1)^{-k}}{2^{1+p} (1-k)^p} - \frac{(-1)^{+k}}{2^{1+p} (1+k)^p} \right)$$

$$= -\frac{4(-1)^k}{\pi^2} \left(\frac{k}{(1-k)^p \cdot (1+k)^p} \right), k \neq 1$$

$$\int_{-\frac{1}{2}}^{\frac{1}{2}} x^p \sin R \pi x \cdot p^{-1} \pi \sin R \pi x dx = -\frac{1}{4\pi^2}$$

b) Ansatz: $u(x, t) = \sum_{n=1}^{\infty} c_n T_n(x) \cdot e^{-\lambda_n^2 t}$ $\rightarrow \sum_{n=1}^{\infty} c_n \cdot e^{-\lambda_n^2 t} = 1 - x^2$

$\rightarrow \sum_{n=1}^{\infty} c_n \cdot e^{-\lambda_n^2 t} = 1 - x^2$
 $\rightarrow \sum_{n=1}^{\infty} c_n \cdot \sin(\lambda_n x) = 1 - x^2$

$\rightarrow u(x, t) = \sum_{n=1}^{\infty} c_n \cdot e^{-\lambda_n^2 t} \cdot \sin(\lambda_n x)$

$u(0, t) = 0 \cdot e^{-\lambda_n^2 t} \rightarrow A = 0$

$u(\frac{\pi}{2}, t) = 0 \cdot e^{-\lambda_n^2 t} \rightarrow \sin(\lambda_n \frac{\pi}{2}) = 0 \rightarrow \lambda_n = 2k, k \text{ heil (ablog, } k \geq 1)$

$\rightarrow u_k(x, t) = c_k \cdot e^{-4k^2 t} \cdot \sin(2kx)$ \rightarrow $\sum_{k=1}^{\infty} c_k \cdot e^{-4k^2 t} \cdot \sin(2kx) = 1 - x^2$

$\rightarrow u(x, t) = \sum_{k=1}^{\infty} c_k \cdot e^{-4k^2 t} \cdot \sin(2kx)$

$u(x, 0) = \sum_{k=1}^{\infty} c_k \cdot \sin(2kx) = 1 - x^2$

$\rightarrow c_k = \begin{cases} -\frac{1}{\pi} & k=1 \\ \frac{4(-1)^k}{\pi^2} & k \neq \pm 1 \end{cases}$

$\rightarrow u(x, t) = -\frac{1}{\pi} e^{-4t} \sin(2x) + \sum_{k=2}^{\infty} \frac{4(-1)^k}{\pi^2} e^{-4k^2 t} \sin(2kx)$